CBA/ES-__

\ Cozovag

We invented the popcorn machine
THEN JUST KEPT GOING!

1/6 MITTEL DRIVE, WOOD DALE, IL 60191

CRETORS COOLING WITH FAN
P/N CBASor ES-

120 Volt,
Single Phase, 60 Hz

230 Volt,
Single Phase, 50 Hz

READ andUNDERSTAND these operating and safety
instructions before operating this popcorn machine

5/5/2014



CBA/ES-

SAFETY FIRST

The information in this manual is essential for siade installation and of your
Cretors machine. The manual must be read and stoderbefore installing, and
operating this equipment, or equivalent trainingstrhe provided.

"The employer shall instruct each employee in #wognition and avoidance of
unsafe conditions and the regulations applicablégavork environment to control

or eliminate any hazards or other exposure toshrma injury"”. Ref.: 29 CFR
1926.20 (b)(4)(a)(2)

It is understood that safety rules within indiviluampanies vary. If a conflict

exists between the safety procedures containddsmtanual and the rules of a using
company, the more stringent rule should take precesl

I INTRODUCTION

This manual is filled with timesaving and moneyisgvnformation regarding your Cretors machine.efh
is nothing, however, more important than the sadédg and warnings that are found throughout this
document. The Safety Alert Symbol is used to iifgtopics of primary safety concern wherever they
appear. Furthermore, a separate section has heleaded which deals exclusively with operation and
accident prevention.

If, after reviewing this manual, anything is uncleatechnical problems are encountered, contactigdaler
from whom you purchased your machine for assistanceif there are any additional questions, fess tio
contact our Customer Service Department at theesddand/or phone number listed on the front ank bac
covers of this manual. Always have the model argasnumber of your machine available to assist in
obtaining the correct information.

I SAFETY ALERT SYMBOL
The symbol shown below is used to call your attento instructions concerning your personal sadeiy

the safety of others. Watch this symbol. It peiotit important safety precautions. It means "ANTEDN!
Become Alert! Your personal safety is involved®ead the message that follows and be alert taghef

personal injury or death.

This instruction manual is intended to familiarmeners with the operation and
safety procedures associated with your Cretors mach

Il PURPOSE OF MANUAL

This manual should be kept available to operatigrggnnel.

A A person who has not read and understood all dpgrahd safety instructions is not
gualified to operate the machine.

v PRODUCT IDENTIFICATION

CRETORS COOOLING TABLE
ELECTRICAL SPECIFICATIONS: Cooling tables are dahie in the following Electrical configurations:

2
5/5/2014



CBA/ES-__
120Volt, Single Phase, 60 Hz
230Volt, Single Phase, 50 Hz

P/NCB_S COOLING TABLE
Electrical: 120V, 60Hz, 2Amps / 230, 50Hz, 1A
Dimensions: 71"L x 39"W x 34.5"H (180cmL x 98cmW X &mH)
Net Weight: Approx. 40 Ibs. (18 kg)

\Y, INSTALLATION

This machine should be placed in a prominent loocadéind set reasonably level.
See bag filler section for mounting instructionsupplied.

Do not connect to a higher voltage or differenetygorrent than indicated above or damage
will result for which we cannot assume respongiili

VI OPERATION

1. Plug in power cord to correct voltage outlet.

2. Press lighted rocker switch to ON to start capfian.

3. Turn OFF the blower fan when finished and cleaetalihe screens are removable for
cleaning below the screens.

4. Bag fillers are typically supplied and can be ukedasily filling bags or containers. Leave
chute closed unit bag is mounted using clips, gligle open to fill.

5. If table is ordered with Popper or CMD, the fantslvimay be located on the popper/cmd
rather then the cooling fan box.

Assemble the Bag Filler:

1. Place the BAG FILLER — TOP upon the BAG FILLEBOTTOM, so that the holes line up and the
lips line up toward the front. Place the BAG FILRE SLIDE into place as you do this. Secure the
assembly with four 1/4-20 x 3/8 BOLTS, four 1/4 SRAOCKWASHERS, and four 1/4-20 CAP
NUTS. Be sure to feed the BOLTS through from tye fand place the LOCKWASHERS on the
bottom side, near the CAP NUTS. Tighten.

2. Turning the bag filler on its side to expose ltb&tom, install the bag clips on either side beldvge
two 10-24 x 3/4 SCREWS, two 3/8 SS SPACERS, two FASERS, two #10 STAR
LOCKWASHERS, and two 10-24 CAP NUTS. Be sure teifion the FASTENERS on the outside,
with 3/8 SS SPACERS between SCREW and FASTENERsuBe the Ludwig name is on the
outside and right-side up. There will be tensietween the clip and the bag filler wall. On the
inside, place a #10 LOCKWASHER, and secure cligh ub-24 CAP NUTS Tighten well.

3. Screw the bag filler to the table. Use four 204x 3/8
BOLTS, four 1/4 STAR LOCKWASHERS, and four
1/4-20 CAP NUTS. Be sure to feed the bolts through
from the outside to the inside of the table, aratelthe |
LOCKWASHERS on the inside wall of the table.
Tighten.

5/5/2014



CBA/ES-__

ViI CLEANING & SANITATION

Be certain the machine is turned ‘OFF’ and powemiglugged before sanitizing this machine.
Failure to do so could result in injury.

CAUTION: Do not get the filter or motors wet.

CAUTION: Keep hands clear of fan blades.

Clean unit every day. Perform thefollowing:

* Wipe all external surfaces with proprietary stasslsteel cleaner or warm damp cloth and dry
thoroughly.

Remove screens from machine. Wash in hot soapgrwdtse, and dry. Vacuum debris from bottom of
table. Replace screens

Check filters and replace as required.

CAUTION: This appliance shall not be cleaned with a water je

>

This manual is filled with timesaving and moneyisgvnformation regarding your Cretors machine.eféh
is nothing, however, more important than the sadédg and warnings found throughout this document.

If you have any questions, contact your local deatel if there are any additional questions, fes# to
contact the Customer Service Department at C. &reted Company.

Additional copies of this manual can be obtaineafiC. Cretors and Company at the address listexhbel
Please provide model and serial number when reiggestiditional copies of this manual. There wél&®
nominal charge for additional copies.

Cretors guarantees this machine to be free of tefeparts, materials and workmanship for two year
Please take this time to fill out the factory réigion card and return it to the factory to adi@vgour
warranty. If you have any questions concerningGhetors' warranty, please contact your local deai¢he
Customer Service department at C. Cretors and Caynpa

@ C. CRETORS AND COMPANY

We invented the popcorn machine 176 MITTEL DRIVE
THEN JUST KEPT GOING! WOOD DALE, IL 60191
PHONE (773) 588-1690, (800) 228-1885, FAX (847) 616-6970
WEB SITE: http://www.cretors.com Email: postmaster@cretors.com

5/5/2014



